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QUESTION 1

Which IE switch is recommendedfor airport jetways?
A. IE3000

B. IE2000

C. IE3400

D. IE3200

Correct Answer: C

Explanation: https://www.cisco.com/c/en/us/products/switches/catalyst-ie3400-rugged- series/index.html

QUESTION 2

What are the main features required of an Industry 4.0 network-?
A. Safety and Profibus compatibility

B. low latency cybersecurity. convergence

C. standardization safety PLC compatibility

D. safety IEC 61850 compatibility

Correct Answer: D

QUESTION 3

Why is it essential for Cisco Cyber Vision Sensors to be embedded in the network infrastructure?
A. to enable out of band network

B. to enable visibility to all network devices and communications

C. to control cost

D. to provide visibility to the network only when going through the DMZ firewall

Correct Answer: D

QUESTION 4

What is a key digitization outcome in manufacturing?
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A. faster product lifecycle

B. better products

C. regulatory compliance

D. better connected communities

Correct Answer: A

QUESTION 5

How do converged networks provide the most significant impact in a typical manufacturing factory"?
A. reduced downtime

B. plant safety

C. machine safety

D. better fleet operations

Correct Answer: A
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